


PART . 11
Answer SIX questions in this part, choasing TW( questions from Section A,
TWO from Section B and TWO Section C.
SECTION . A
Answer any TWO questions from this section.
Question 4
a mmxmm.mmtaﬂeofxoaumwmm.
% Simplify the following expression by using the boolean laws. At cach step state clearly
the law used.
XYZ +XYZ+XYZ+XYZ +XYZ+XY7Z
€& Veufy: P (-P+Q)=(P=20Q)
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a \WmisAdﬂu?anthcmnhnblemdhgiccimmdiwoffuuadd&
b M‘M@gmmtmdhmmmmmmm

ABC+AB+BC
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2  Perform the following:-

i (011D, +Q111101),

i (101101), * (11D), e

B (11100011), = (101),
h ify alechraically - e
X+YZ=X+Y +2) . X+Y +Z).X+Y+D
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